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225(3% = fr 1,500 [109/06/12 |t & PRix2 Ldpgees |8 |- g 2
226\ % & 1,500 [109/06/12 |t & PRix2 Ldpgees |8 |- g 2
227|538 L % 1,500 [109/06/12 |t & pRix2 Ldpgees |8 |- i 2
228\ kg 3 2,000 [109/06/12 |At & PRix % A¥pfres |8 |- ki =
229| 7 Fe 47 1,000 [109/06/12 |t PRFx2 Lipgcrs |8 |- 48 2
230 % 35 f1.4 Jz » 1,463 [109/06/12 |4+ & pRix2 Ldpgees |8 |- g 2
2313k % 1,000 [109/06/12 |+ PRFx 2 &Lipscrs |8 |- 48 2
232|114 1,000 [109/06/12 |+ PRFx % &Lipscrs|H |- 48 2
233|% # 2 1,000 [109/06/12 |4+ & pRix2 Ldpgces |8 |- &g 2
234 P F. BB IR, P 1,000 [109/06/12 |4+ PRFx 2 Lipgcrs |8 |- 48 2
235|775 4 100 [109/06/12 |4 € rRix2 Lapfees| 8 [- 48 =
236|3% 7% 1,000 |109/06/12 |4t ¢ PR 2 &ipsces | R [374 2% =
237|2 & 1,500 |109/06/15 |4t ¢ PRix 2 &ipsces |8 [- 4 & 2
238[3F 7 & 1,500 [109/06/15 |+ PRFx % Lipscns |8 |- 48 2
239(3% 77 5 1,500 [109/06/15 |+ PRFx % Lipscrs |8 |- 48 2
240(3% @ i 1,500 [109/06/15 |4+ PRFx% &ipscrs|H |- 48 2
241| £ % 750 |109/06/15 [A- ¢ PRix 2 E¥pfees |8 |- e =
242|149 i pr 750 |109/06/15 [A- ¢ PRix 2 A ¥pfees |8 |- 4k =
243| £ ot 5% 750 |109/06/15 [At ¢ PRix 2 A ¥pfees |8 |- e =
2447 & 750 |109/06/15 [At ¢ PRix 2 A ¥pfees| € |- 4 =
245 | A7~ 5,000 [109/06/15 |4 & PRix % Aipfers |8 |- 4p & =
246(zF % 2 500 [109/06/15 [4- g PR % Ldpers| R |- &8 =
247 & 1B 500 |109/06/15 At ¢ PRix % E¥pfees |8 |- 42 =
24838 pt 8 + 2,000 [109/06/15 |4 & PR7% % Aipfers |8 |- 4k & =
249|ph it % 500 |109/06/15 [A- ¢ PRix 2 A ¥pfees |8 |- 4k =
250| Pt {55 500 [109/06/15 [4- g PR % Ldpfert| R |- &8 =
251|% 4 # 100 [109/06/15 |Ax € riir2 dupfess| 8 |- 4 d =
252|775 4 300 |109/06/15 it ¢ PRix 2 Lapferes |8 |- 4pd =
253| % 4t 2,500 [109/06/15 |4+ € PRix2 &apfens| . [- 48 =
254 | Z 2,000 [109/06/16 |4+ € rRir2 &apfens| . [- 48 =
255 T e 500 [109/06/16 [4- g PR % Ldpert| R |- 48 =
256|% % += 500 [109/06/16 [+ ¢ rrir2 Aipsees |8 |- & & 2
257|Ph g % 500 |109/06/16 [4- ¢ PRis % Eepfees |8 |- 4p % =
2581 &4 500 [109/06/16 [4- g PR % Ldpdert| R |- 48 =
259| 13 B 500 |109/06/16 [4- ¢ PRis % Eepferes |8 |- 42 % =
260|735 f1.4 > 5,120 [109/06/16 |4 € PRix2 &apfens| L [- 48 =
261|2 p B 2,000 [109/06/16 |4 € PRix2 &apfens| . [- 48 =
262[% §' 500 |109/06/16 [+ & rrixz Lipfees|q |- & »
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2633 4% 200 [109/06/16 |4+ & PRix2 LEpfeet|E |k E 2
264|583 GPF 200 [109/06/16 |4t § PRix% Aspgces| L Mg s 2
265(m £ ¥ 2,000 1109/06/18 |4+ € PRIx 2 EL¥pfres| & [- &5 =
2662 2% & 1,000 |109/06/18 |4 € PR#x % L ¥gfees (& [- & 2
2673 ¥ 1,000 [109/06/18 [i+ € PR#x2 LEpfcet|q_ |- &% & 2
268 3 200 [109/06/18 [i+ & PRix2 LEpfeet|H |- % & 2
269|2 % B 200 [109/06/18 [i+ & PRix2 LEpfret|E |- & 2
270 | 4= 1,000 |109/06/18 |A+ € PRix% L pfces| & |- & & =
271 4% 3 1,000 |109/06/18 |A+ € PRix% L pfces| & |- & & =
27242~ & 200 [109/06/18 [i+ & PRix2 LEpfrer|H |- & 2
273422 2 200 [109/06/18 [i+ & PRix2 LEpfret|H |- & & 2
27448 % B4 200 [109/06/18 [i+ & PRix2 LEpfret|E |- & 2
275 |42 & 200 [109/06/18 |it ¢ pRixr 2 &ipsees| L |- g »
276[4k % W 200 [109/06/18 [i+ & PRix2 LEpfret|E |- & 2
27T | B 10,000 [109/06/18 |4+ € pRix32 LEpfres | |- &5 =
278 | # AR 10,000 [109/06/18 |4+ € pRix2 LEpfres | |- &5 =
279]1F A 6,000 |109/06/18 |4+ € PRIx% E¥pfrer| & [ B &5 =
2801 1% % 7k 6,000 |109/06/18 |A: g PRFx % Lipfert|E  |®gE S =
28134 & 10,000 [109/06/18 |4+ € pRix2 LEpfees | | F#ES 2
282|% % % 5,000 [109/06/19 [+ ¢ rRixz Lspfers|q |- &g »
283| &P 47 5,000 [109/06/19 |4+ ¢ pRirz Lapfees|q |- &g =
284| 5 & e 5,000 [109/06/19 [A+ ¢ PRix % Lepderes |8 |- & & =
285] ® i Az » 5,362 1109/06/19 |4+ € PRIx2 F¥pfres| & [- &5 =
286) 5 418 4 ~ 488 [109/06/19 |+ g prirz Sapfees |2 |- i =
287 %5 A e » 1,706 [109/06/19 [i+ € PRix2 LEpfeet|H_ |- &% & 2
288|+k K Z 2,000 [109/06/19 |A+ ¢ rRir2 &apfens|E [2 & =
2895 42 4 500 [109/06/22 [4t ¢ i % &apfees|E |- 42 =
290 F 48 B 100 |109/06/22 |4+ € pRix 2 Lgpfers |8 [- & »
291 46 P 100 |109/06/22 |4+ € PRir % Lipsens|E |- 4nd 2
292|% & & 100 |109/06/22 |4+ € PRir % Lipgcrs |8 |- 4nd 2
293 '8 100 |109/06/22 |4+ € PRir % Lipsens|E |- 4nd 2
204(% 48 100 |109/06/22 |4+ € PRir % Lipgcns |8 |- 4nd 2
295| M 3F 4 & 100 |109/06/22 |4+ € PRir % Lipgcrs |8 |- 4nd 2
296/ i s 100 |109/06/22 |4+ € PRir % Lipgers|E |- 4nd 2
207\ it & 100 |109/06/22 |4+ € PRir % Lipgcrs|E |- 4nd 2
298X % % B 100 |109/06/22 |4+ € PRir % Lipgcrs|E |- 4nd 2
299+ 4 300 [109/06/22 [4+ ¢ pRix% Lapfees|H |- 42 =
300] =35 f1.4 > 1,463 [109/06/22 |4+ & PR32 Lipscrs | |- 48 2
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301| % 35 {14 Jz > 1,706 |109/06/22 |4t ¢ PRix2 &ipsces |8 [- 4 d 2
302|# B4 10,000 [109/06/23 |4+ & PRis2 Lapfens |8 |- 48 =
303[m i 2,000 [109/06/23 |4 & PRix % Adpfees |8 |- 4p & =
304|414 100 [109/06/23 |4 & pRFx % Edpfees |8 |- 4p & =
305|m 4 % 100 [109/06/23 |4 & pRis % A¥pfees |8 |- 4p & =
306] 7 3 % 100 [109/06/23 |4 & pRFs % Adpfees |8 |- 4p & =
07| % &= 100 [109/06/23 |4 & PRFs % Adpfees |8 |- 4p & =
308 Fr & 100 [109/06/23 |4 & pRFs % Adpfers | |- 4p & =
309|m & % 100 [109/06/23 |4 & PRFs % Adpfees |8 |- 4p & =
310| = & A 100 [109/06/23 |4 & PRFs % Adpfees |8 |- 4p & =
311 |mE+ 100 [109/06/23 |4+ & pRFs % Adpfees | |- 4p & =
312[5R ik 5 100 [109/06/23 |4+ & pRis 2 Lapfens |8 |- 48 =
33| 5w 47 100 |109/06/23 |4+ € PRis % Lifpgces |8 |- 4nd 2
14| %5 3% 100 |109/06/23 |4 ¢ FRix % Lipgees| L |- &g
315[5% £ in 500 [109/06/23 [A- g PR % Ldpfers| L |- &8 =
316(zF 4 & 500 [109/06/23 [4- g PRAx2 koot | R |- 42 =
3l7fe + % 500 [109/06/23 [4t g PRAx2 Lipkees |2 |- 428 =
318[gm g 200 [109/06/23 [A- g PR % Lipfers| L |- &8 =
319[#8 2 200 [109/06/23 [A- g PR % Lipfers| L |- &8 =
320(zF 2 & 200 [109/06/23 [it g PRAx2 Lipkees |2 |- 4 =
321|# &= 815 |109/06/23 |4+ ¢ PRix 2 Lipscns |8 [- 48 2
322|2 *5 i 100 |109/06/23 |4+ € PRix 2 Lipgers| L |- 48 2
323[4 % &« 100 [109/06/23 |4 & R7s % Eipfers | |- 4 & =
3242 % & 100 [109/06/23 |4 & PR7s % Eipfers |8 |- 4 & =
325|212 & 100 [109/06/23 |4 & pR7s % Eipfers |8 |- 4 & =
326[#& % = 150 [109/06/23 |At ¢ PRix % gt |8 g d =
327|3 i 1,000 |109/06/24 |4+ ¢ pRir2 Lipgees (8 [- 48 @
328[ 2 a4 1,000 |109/06/24 |4+ ¢ pRir2 Lipgees (8 [- 48 @
329| 2 W3t 1,000 |109/06/24 |4+ ¢ PRir2 Lipgees (8 [- 48 @
330 ¥ % 1,000 |109/06/24 |4+ ¢ pRir2 Lipgees (8 [- 48 2
331|3% ik 1,000 |109/06/24 |4+ ¢ pRir 2 &ipsens |8 [- 48 2
332|RZ & 1,000 |109/06/24 |4+ ¢ PRir2 Lipgees (8 [- 48 @
333[2 3k 500 [109/06/26 4t & PR 2 Lipkees| R |- 4 =
334[2 Fan 500 [109/06/26 [4- & PR 2 koot | R |- 4 =
335|2 4R % 500 [109/06/26 [4- g PRx% Lipdert| L |- 48 =
336]2 4 500 [109/06/26 [4- g PR % Lipders| L |- 48 =
337|m % 4 20,000 [109/06/26 [ir & prix2 Lapkees| L |- 48 =
338|% ‘2 B 5,000 [109/06/26 |4+ & pRis2 Eapfens |8 |- 4 & =
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339| 3 kit 375 |109/06/26 [4- ¢ PRix 2 Lapferes |8 |- 4p i =
340|% F % 375 |109/06/26 [4- ¢ PRis 2 Lapferes |8 |- 4p i =
31[% H45 375 |109/06/26 [4- ¢ pRix 2 Aepfees |8 |- 4% =
342|% e 375 |109/06/26 [4- ¢ PRis 2 Lapferes |8 |- 4 =
343\ F & 500 |109/06/26 [4- ¢ PRix % A ¥pfees |8 |- 4% =
344|m % % 500 |109/06/26 [4-  PRis % Lapferes |8 |- 4p i =
345| % i 4 3,000 |109/06/26 |A: g PRAx % Lpfers|E |- 4 & =
346|#% < 3 650 |109/06/26 4+ ¢ PRAx2 Lapdkers |8 |- 4 i =
347|8 % § 700 |109/06/26 [i- ¢ PRix 2 Lapfees |8 |- 4l 2
348 =1 % ik 650 [109/06/26 [4+ & PR32 &pkers (8 |- 4% =
349| 2 #Ene 2,000 [109/06/26 |4+ € rRix2 &apfees| |- 48 =
350|% T 5 500 |109/06/26 [it ¢ PRix % Lapfees |8 |- 4 =
351|% B & 500 |109/06/26 [4t ¢ PRix 2 Lapfees |8 |- 4 2
352\ & 1,000 [109/06/26 |+ PR32 Lipscrs |8 |- 48 2
353 % {0 & 5,000 [109/06/26 |A: € FRix2 &apfees| . [- 48 =
354| % & & 500 [109/06/26 [4+ & pR5x2 &pkers |8 |- 4% =
355\ % £ 8 200 [109/06/26 [+ ¢ rRix2 Lapfens|E |- 4 & =
356 & 12 &F 500 [109/06/26 [t & pRix2 &spfens|E |- 4 & =
3572 s & 200 |109/06/26 [4- ¢ PRix 2 Lapees |8 |- 4pd 2
358|415 & - 100 |109/06/26 |4+ € PRis % Lipsers|E |- 4nd 2
BIEE T 1,000 [109/06/26 |4+ PRFx % &Lipscrs|[H |- 48 2
360| % i & 500 |109/06/26 [4- ¢ PRix 2 Lapfees |8 |- 4pd 2
361|775 4 300 |109/06/26 [4+ ¢ pRix2 Lapders |8 |- i #
3628 rel Al 4 4 » 23 [109/06/26 |3 ¢ prarz Lspgems| . |- a2 =
3638 BB 500 [109/06/26 [+ ¢ rRix2 Lsphens|E (2% & =
3648 4 i 500 |109/06/26 [4- ¢ PRix 2 Lapheet |8 |2 % 2
365|2 it ¥ 500 |109/06/26 4t ¢ PRix 2 Lipkeet |8 |2 % =
3663 % 5t 36,000 |109/06/29 [4t ¢ PRix 2 Laperes |8 |- 4pd =
367\ 2 Mz 120 [109/06/29 |A+ ¢ rRix2 Lapfens| 8 [- 48 =
368|m it 86 [109/06/30 [A+ € PRix2 &ipfens| L [- 4 d =
369 | Bt & 500 |109/06/30 [+ & rrixz Lipfees|d |- &g »
370|ph fF e 500 |109/06/30 [it ¢ PRix 2 gt |8 |- 4pd =
31| P &4 500 |109/06/30 it ¢ PRAx 2 gt |8 |- 4 =
372)1% % += 500 [109/06/30 [+ ¢ prir2 gt |8 |- & & 2
373|132 500 |109/06/30 it PRA* 2 gt |8 |- 4 =
B E X 5,500 [109/06/30 |4+ € PRix2 &apfens| L [- 48 =
315|% | P 500 |109/06/30 |4+ & PRAx2 & pfees| 2 |- 4k =
376 % & 4@ 500 |109/06/30 [4- ¢ PRi* 2 gt |8 |- 48 =
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3TT|1f 4 = 500 |109/06/30 [A+ & PRAx2 Lipders| R |- n & =
378|17 & % 500 |109/06/30 [A+ & PRAx2 Lipfers|R |- n & =
3T9|4F & = 500 |109/06/30 [A+ & PRAx2 Lipfers| R |- n & =
380[ M % & 500 |109/06/30 [A+ & PRAx2 Lipfers| R |- n & =
381|% * & 500 |109/06/30 [A+ & PRAx2 Lipfers| R |- n & =
382|% 4% 500 |109/06/30 [A+ & PRAx2 Lipfers| R |- n & =
383| % & 500 |109/06/30 [A+ & PRAx2 Lipfers| R |- dnd =
384 |FR g 2,000 [109/06/30 [A+ ¢ pRix % Lpfens | |- &% =
385|% ;5% 2,000 |109/06/30 [4+ & PRAx2 Lipdees| R |- nd =
386] T ix .4 Jx » 20,963 [109/06/30 |A- ¢ pRix 2 Lgrgces |8 |- 4 =




